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AP Microeconomics

Unit 6: Market Structure
*Question order is not consistent across assessments.

Lesson 2: Perfect Competition 
Quiz
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Lesson 3: Concepts of Perfection Dropbox
Sample Work – Teacher Graded
Lesson 4: Monopoly and Monopolistic Competition 
Quiz
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Lesson 5: Concepts of Monopolies Dropbox 
Sample Work – Teacher Graded
Lesson 6: Oligopoly
Quiz
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Lesson 7: Concepts of Oligopoly and Oligopoly Models Dropbox 
Sample Work – Teacher Graded

Lesson 8: Comparing Markets and Imperfect Competition
Quiz
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Lesson 9: Wrap-Up 
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[image: ]

[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]

[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]

Lesson 10: Market Structure Essay Test 
Essay Test – Teacher Graded
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+/ Question 1 1 point

Aperfectly competitive firm sells 500 units of a product at $300 per unit. What's the
firm's marginal cost and marginal revenue per unit?

(O A MC=$500, MR= $500
v (® B. MC=$300, MR= §300
(O €. MC=8500, MR= $300
(O D. MC= $300, MR= $500

() E. None of the above
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+/ Question 2 1 point ~

A perfectly competitive firm is a price taker. This means:

() A. thefirm faces a perfectly inelastic demand

(O B. the firm faces a perfectly elastic demand.

() C. thefirm faces a demand with an elasticity of one.

() D. the price of the output is equal to the marginal revenue at all levels of output

/(8 E. the firm faces a perfectly elastic demand, and the price of the output is equal
1o the marginal revenue at alllevels of output.
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+/ Question 3 1 point ~

A perfectly competitive firm faces a demand curve thatis ____, and the industry demand
curveis

(O A vertical / upward sloping

/(@ B. horizontal / downward sloping
(O c¢. downward sloping / downward sloping
(O . downward sloping / horizontal

(O E. perfectly inelastic / perfectly elastic
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+/ Question 4 1 point

If demand

f the market s an increasing-cost industry, the long run supply curve i
increases, the price of the product wil

() A. horizontal; stay the same
/(@ B. upward-sloping; increase.

() cC. upward-sloping; decrease

(O . downward-sloping; decrease

(O E. downward-sloping; increase




image5.png
+/ Question 5 1 point

Perfectly competitive firms produce:

() A where marginal revenue equals marginal cost.
(O B. where average revenue equals marginal cost
() C. where price equals marginal cost.

(O D. where demand equals marginal cost.

/(@ E Allofthe above
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+/ Question 6 1 point

A perfectly competitive firm must decide:

(O A. which price to charge for its product
+/ (® B. which level of output to produce.
(O . which level of profit to attain.
(O 0. how much advertising wil best sellts product

(O E. the best price-output combination.
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+/ Question 7 1 point

Which of the following is characteristic of perfectly competitive markets?

() A Manyfirms in the market

(O B. Eachfirm has a very small market share of the industry
(O C. Easyto enter and exit the industry

() . Information on prices is easily attainable

/(@ E Allofthe above
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+/ Question 8 1 point

Inthe short run, a perfectly competitive firm will shut down whenever:

/(8 A. the market price is below average variable costs at all possible levels of
output.

(O B. profits arent maximized
() C. the market price is below marginal cost at all possible levels of output.
() D. the market price is below average total costs at all possible levels of output.

O E stakingaloss
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+/ Question 9 1 point ~

Interms of perfect competition, which of the following is true?

() A. Price always equals average revenue.

() B. Profit maximization occurs at the level where marginal revenue equals
marginal cost.

/(@ c. Profit maximization occurs at the level of output where price equals
marginal cost, price always equals average revenue, and profit maximization
oceurs at the level where marginal revenue equals marginal cost.

(O . Profit maximization occurs at the level of output where price equals
marginal cost

() E. Profit maximization occurs at the level of output where price equals marginal
cost, and price always equals average revenue.
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/ Question 10 1 point

The perfectly competitive firm breaks even when:

() A. price equals the minimum of the average variable cost

(O B. price equals the maximum of the average total cost.

() . price equals the maximum of the average variable cost.
/(&) D. price equals the minimum of the average total cost.

(O E. price equals the total cost.
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+/ Question 1 1 point

‘The profitmaximizing level of output for a monopolist

O A MR=MP.
(O B. MP=MC.
v @ c. MR=MC.

(O D. AR=R.

() E. None of the above
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+/ Question 2 1 point

Amonopolist sets the price

/(® A. fromthe point on the demand curve above the intersection of marginal
revenue and marginal cost.

() B. tosellasmuchas it can.
O ¢ ashighas possible
() D. the same way a perfectly competitive firm ssts its price.

() E. where marginal revenue equals marginal cost
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+/ Question 3 1 point

‘The most probable effect of advertising on the monopolistically competitive firm's long-
1un average cost curve is that it will

() A shiftthe curve left

O 8. shiftthe curve right
/(@) c. raise the curve

(O D. lowerthe curve.

(O E- None of the above
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+/ Question 4 1 point

Unlike perfect competition, a monopolist:

(O A. produces a good with many substitutes.
(O B. has no price-setting ability.

/(@ c. faces a downward-sloping demand curve.
(O D. faces a flat demand curve.

() E Allofthe above
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+/ Question 5 1 point

Which of the following characteristics of a monopoly creates a loss in the gains from
trade?

/(@ A. Under producing
(O B. Welfareloss
() C. Rentseeking
() D. Using scarce resources in a way that doesnit minimize costs

(O E Deadweight loss
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+/ Question 6 1 point

Which of the following is not a barrier to entry for a monopolist?

() A. Patents or copyrights

() B. Government franchises or licenses

(O €. Control of an important resource used in production
(O D. Economies of scale

/(@ E. Allofthe above are barriers to entry.
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+/ Question7 1 point

Anatural monopoly is a monopolist in an indusry where:

®@ 0OO0O0O0

the unregulated firm earns zero profits.
the monopolist produces at the productively efficient level of output.
the unregulated firm earns negative profits

the allocatively efficient level of output is at a price below the marginal cost
of production.

the allocatively efficient level of output s at a price below the average total
cost of production.
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+/ Question 8 1 point ~

Which of the following is possible for a monopolist operating in a perfectly monopolistic
market?

() A Marginal revenue will be less than the price charged for the product.
(O B. Economic profit is possible in the long run.

(O €. Maximum profit or minimum loss will occur when marginal revenue equals
marginal cost.

(O . The firm will produce at a production level lower than where marginal cost
intersects demand.

/(@) E. Allofthe above
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+/ Question 9 1 point

Which of the following is not a condition necessary to enable a monopolist to engage in
price discrimination?

() A Must have some market power

(O B. Mustbe able to divide consumers into identifiable groups according to
ability and willingness to pay

() €. Mustbe a price searcher rather than a price taker
(O D. Mustbe able to block the resale of the product

/(@ E. Must operate on the inelastic portion of the demand curve
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+/ Question 10 1 point

Anindustry with a differentiated product, easy market entry and exit, and many small
sellers would best be described as

(O A anoligopoly.

(O B. pure competition

O c. pure monopoly.

(® D. monopolistic competition.

(O E- None of the above
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+/ Question 1 1 point

When a dominant oligopolistic firm sets a price that is then matched by the other
oligopolistic firms in the industry, this is called:

A. cost-plus pricing.

B. price discrimination.
C. illegal price collusion.
D. predatory pricing.

E. price leadership.

®@ O 00O
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+/ Question 2 1 point

The kinked demand curve helps explain why oligopolies:

/(@ A. seldom change their prices
O 8. collude
O c. formecartels.
(O D. exitthe industry.

() E. charge higher prices.
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+/ Question 3 1 point

A market concentration ratio is:

(O A the organizational structure of the biggest firms in the industry
(O B. thetotal sales of the largest firm in the industry.

(O €. how much the firm produces compared to other firms.

(O . the number of fims in the industry.

/(@ E. the share of industry output that the largest firms produce.
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+/ Question 4 1 point

When game theory is used to explain economic models, strategies are:

/(@) A. the plans made by the participating firms
() B. the rules by which the game operates
(O . the outcome of the actions of the competing firms
() . the potential retums of the firms.

(O E. howafirm reacts to the actions of other firms.
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+/ Question 5 1 point

The mutual interdependence of oligopolies means that each oligopolist:

®@ O 00O

A

c.

D.

E

has a perfectly elastic demand curve.

has a unique demand curve.

has to make a decision on whether or not to collude with other firms
is subject to government regulation.

must react to what other firms do.
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+/ Question 6 1 point

Oligopolies ocour when there is/are:

O O O

50 many firms that too much is produced.
a few large firms in the industry.

an equal number of large and small firms in an industry.
one firm in the industry.

one giant firm and many small firms offering local competition.
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+/ Question7 1 point

Which of the following conditions indicates that firms are operating as a cartel?

(O A They have the ability to control entry into the market
/(8 B. They agree to abide by price and output decisions made by their leadership

() €. They have mutual interdependence on price and output

(O D Theyallow individual firms to make independent decisions

() E. Theycanraise prices even if demand doesnit change




image28.png
+/ Question 8 1 point ~

Which of the following statements about oligopolies is not true?

/(@ A. Oligopolies can be easily broken up and turned into perfectly competitive
firms,

(O B. Oligopolies can produce both differentiated and homogeneous products.
() . Oligopolies can charge prices higher than their marginal cost.

(O . Oligopolies have market power in the United States, but must also deal with
foreign competition.

E. Since oligopolies have economies of scale, they can generate lower prices
for their consumers.
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+/ Question 9 1 point

The belief that other firms will match price decreases and ignore price increases will
usually result in:

(O A marginal cost being below the market price.

(O B. adownward sloping demand curve.

() C. average total cost increasing because firms will need to advertise.
/(@ D. akinked demand curve.

(O E. an upward sloping supply curve.
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+/ Question 10 1 point

Which of the following is not a reason that some industries are oligopolies?

() A Mergers
(O B. Economies of scale
() . Interdependence

+/ (® D. Government regulation

() E Barierstoentry
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+/ Question 1 1 point

Say Gilla-Gong Surfboards has an employee who lives in Washington, D.C. This
employee's only job s to try to influence politicians to pass legislation that will increase
the profits of Gill-a-Gong. In economic terms, what is this called?

(O A Lobbying

() B. Profit seeking

(O c. Pleading

(O D. Economic lobbying

/(@) E. Rentsesking
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+/ Question 2 1 point ~

Whatis antitrust legislation?

() A. Laws aimed at firms the government doesn't trust
(O B. Laws that make it llegal to operate with allocative or productive inefficiency
() C. Laws aimed at bad firms

+/(® D. Laws aimed at some firms that restrain trade or significantly lessen
competition

() E. Laws aimed at really large firms that are able to take advantage of
economies of scale
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+/ Question 3 1 point

Whatis one of the major rationales behind antitrust legislation?

() A. When firms face little or no competition, they produce at teh quantity where
MR =MC.

/(8 B. Whenfirms face little or no competition, they are free to operate with
inefficiency.

() €. When firms have market power, they produce negative externalities.

(O D. When firms face little or no competition, they set their price at the minimum
of ATC.

(O E. When firms face little or no competition, they set their price randomly,
varying from customer to customer.
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+/ Question 4 1 point ~

Since the Sherman Act was passed, what has been the general trend in the U.S. regarding
antitrust legislation?

(O A. Decreasing antitrust legislation followed by increasing deregulation
(O B. Increasing deregulation and then increasing antitrust legislation
() €. Decreasing antitrust regulation followed by decreasing deregulation
(8 D. Increasing antitrust legislation and then increasing deregulation

(O E Everincreasing antitrust legislation with no periods of deregulation
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+/ Question 5 1 point

Combining Paul's spaghetti sauce company with Maric's spaghetti sauce company is
called:

A. avertical merger
B. acartel
C. aconglomerate

D. an antitrust merger.

®@ O 00O

E. a horizontal merger.
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+/ Question 6 1 point ~

Different market structures are at different levels of competition and create different
levels of allocative and productive efficiency. Describe the relationship between the level
of competition and the level of efficency.

/(@ A Its adirect relationship.
(O B. Itsanindirect relationship.
() C. Theres no relationship; each case s different

(O . Its direct when comparing perfect competition and oligopoly, but indirect
when comparing perfect competition and monopoly.

() E. None of the above
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+/ Question 7 1 point

Inthe long run, a monopolistic competitor i like a perfect competitor in that

(O A both react to other firms' pricing and output decisions.

(O B. both produce at the minimum point on their average total cost curve.
/(@ c. both make zero economic profits.

() D. both sst price at a level greater than marginal cost

(O E. both have high barriers to entry
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+/ Question 8 1 point

Government regulations are an example of what type of economy?

() A. Traditional
(@ B. Command
O C. Market
() D. Capitalist

() E. None of the above
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+/ Question 9 1 point

Firms have downward-sloping demand curves in

(O A monopolies only.

(O B. monopolies and oligopolies that collude only.
/(@) c. all market structures except perfect competition.

(O D. oligopolies and monopolies only.

(O E. perfectly competitive markets only.
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/ Question 10 1 point

Antitrust legislation:

[o)Ne]

A

is never enforced in the United States.
is aimed at all firms that practice anti-competitive behavior.

is aimed at some firms that practice anticompetitive behavior, particularly
those whose actions harm consumers.

is aimed at all firms with market power.

sets amaximum legal size for corporations.
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+/ Question 1 3 points

Which of the following is a barrier to entry?

(O A Large start-up cost

() B. Economies of scale

(O €. Exclusive resource ownership

(O D. Government-granted exclusive rights

/(@) E. Allofthe above.
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+/ Question 2 3 points

Strategic behavior means:

A advertising.

B. acting based on the actual and predicted responses of one’s ivals.

D. planning for the future without reference to the past.

@)
v®
(O €. acting independent of one's rivals.
@)
@)

E. warlike behavior.
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+/ Question 3 3 points

When a monopolist produces where marginal revenue equals marginal cost, it chooses
not to produce some items that the consumer values more than the marginal cost of
production. This s called:

O A allocative inefficiency.
() B. deadweight loss.
() c. welfare loss.

V(@ D. Allof these.

() E. None of these
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+/ Question 4 3 points

Which of the following s true?

(O A Afirm will ear lower profits with price discrimination than with one-price
pricing.

(O B. Afirm will earn the same profits with price discrimination as with one-price
pricing.

(O €. All consumers prefer price discrimination to one-price pricing
(O D. Noconsumers prefer price discrimination to one-price pricing.

/(@ E. Some consumers prefer price discrimination to one-price pricing,
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+/ Question 5 3 points

Which of the following is nota reason that cartels are difficult to create and maintain?

A. Cartels are llegal in the United States.
B. There's a huge incentive for the colluding firms to cheat
C. Collusions illegal in the United States.

D. Cheating s difficult to detect.

®@ OO0 OO0

E. None of these.
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+/ Question 6 3 points

For a one-price monopolist, the marginal revenue curve is always:

®@ OO0 0O

A. positive.
B. equal to the average-revenue curve.
C. equalto the demand curve.

D. negative.

E. less than the average-revenue curve.
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+/ Question7 3 points

Product differentiation by a particular firm:

() A. decreases the demand faced by that firm
() B. increases the elasticity of the demand faced by that firm,
(O . increases the elasticity of demand in the market

/(8 D. decreases the elasticity of the demand faced by that firm

() E. decreases the elasticity of demand in the market.
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+/ Question 8 3 points

Oligopolies often create:

(O A productive efficiency.

(O B. allocative efficiency.
V@ c. welfare loss.

() D. None of these.

() E Allof these
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+/ Question 9 3 points

Anatural monopoly

has decreasing average total cost over its whole range of production.

will earn positive economic profits by producing where demand equals
average total cost in the long run,

s an industry with decreasing returns to scale.

will earn positive economic profits by producing where demand equals
marginal cost in the long run.

is rarely regulated by the government.




image50.png
+/ Question 10 3 points

Which of the following statements about the dominant firm model is incorrect?

A. The dominant firm is a price searcher.

B. The dominant firm is usually the largest firm in the industry.
(O C. Itis aprice-leadership model

/(@ D. Itis acostplus model

() E. The dominant firm sets the market price.
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+/ Question 11 3 points

Which of the following is ot a characteristic of monopolistic competition?

(O A Nobarriers to entry

(O B. Many firms in the market
/(@ C. Homogeneous products

(O . Price searching

(O E- Non-price competition
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+/ Question 12 3 points

Which of the following industries create allocative inefficiency?

(O A Oligopoly and monopoly
/(@ B. Monopolistic competition, oligopoly, and monopoly
(O €. Monopolistic competition, oligopoly, and perfect competition
D. Monopolistic competition, oligopoly, perfect competition, and monopoly

E. Monopolistic competition and oligopoly
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/ Question 13 3 points

For a perfectly competitive industry or firm, which of the following is always correct?

(O A Inthe short run, the supply curve is the entire marginal-cost curve.

(O B Inthe long run, a constant cost industry has a downward sloping supply
curve.

(O C. Inthe short run, the supply curve is the marginak-cost curve below the
average variable cost.

(O . Inthelong run, a decreasing cost industry has an upward sloping supply
curve.

/(@ E. Noneof these
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+/ Question 14 3 points

For a perfectly competitive industry in the long run, which of the following is false?

() A Thereis allocative efficiency.

/(@ B. Average fixed cost equals price.
(O C. Average total cost is at its minimum.
() D. Average total cost equals marginal cost.

() E. Price equals average total cost
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+/ Question 15 3 points

Which of the following is not a characteristic of perfect competition?

(O A. Perfect information
(O B. Identical products
(O €. Nobarriers to entry
(O . Normal profits

/(@ E. Positive economic profits,
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+/ Question 16 3 points

Which of the following industries choose the quantity where marginal revenue equals
marginal cost to maximize profits?

(O A Monopolistic competition, oligopoly, and monopoly
(O B. Monopolistic competition and oligopoly

/(@ C. Monopolistic competition, oligopoly, perfect competition, and monopoly
(O D. Oligopoly and monopoly

(O E. Monopolistic competition, oligopoly, and perfect competition
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+/ Question 17 3 points

Antitrust legislation:

@)
v®
@)
@)
@)

A aims to control monopolies.
B. aims to control firms that restrain trade in ways that hurt consumers.
C. includes the Charmin Act of 1980.

D. is limited to corporations.

E. aims to control firms that violate the public trust.
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+/ Question 18 3 points

According to the kinked demand curve model of oligopolies, the firm believes:

() A. their rivals will match their price increases, but not their price cuts.
/(@) B. their rivals will match their price cuts, but not their price increases.

(O €. nothing about their rivals response to price changes.

(O . their rivals will match alltheir price changes.

(O E. theirrivals will not match their price changes.




image59.png
+/ Question 19 3 points

Amonopolistic competitor produces:

(O A without productive inefficiency.
(O B. where average total cost is at its minimum.
(O c. without allocative inefficiency.

/(8 D. where marginal revenue equals marginal cost.

(O E where average total cost equals marginal cost.
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+/ Question 20 3 points

Current antitrust legislation limits:

A only horizontal mergers.
B. only monopolies.

C. only vertical mergers.

O O O

/@ D. bothvertical and horizontal mergers.

(O E. both monopolies and monopolistic competitors.
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+/ Question 21 3 points

Amonopolist who spends money to lobby senators for favorable trade restrictions is:

() A. engaging in arbitrage.

O 8. fallingto maximize profits
@ C. engagingin rent seeking

() D. inacontestable market

O E. breaking the law.
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+/ Question 22 3 points

For a price taker, the marginal revenue is:

() A less than the price.
() B. independent of the price.
V@ c. theprice.
(O D. sometimes more and sometimes less than the price.

() E. greater than the price.
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Which of the following is rot a standard oligopoly model?

(O A Costplus pricing

() B. Price leadership

(O €. Game theory and tacit collusion
/(@ D. Average-cost pricing

() E. Cartels and collusion
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+/ Question 24 3 points

Inthe long run, a monopolistic competitor:

() A. eams zero economic profit

() B. produces at a price where demand is tangent to average total cost.

() C. produces at a quantity where marginal revenue equals marginal cost.
V(@ D. Allof these.

() E. None of these
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+/ Question 25 3 points

For a firm to successfully engage in price discrimination, it must

A find it easy to tell consumers apart.
B. encourage arbitrage.
C. engage in rent seeking.

D. be the only seller in the market.

0000 ®

E. make consumers adore the pricing scheme.
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/ Question 26 3 points

If the market demand curve for a good in a perfectly competitive market is inelastic, we
can conclude:

/@ A the demand curve faced by an individual i is completely elastic.
(O B. the supply curve of the individual firm is completely inelastic.
(O €. the demand curve faced by an individual firm in the market is inelastic.
(O . the market supply curve is inelastic.

() E. the market supply curve is elastic.
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+/ Question 27 3 points

The concentration ratio of an oligopoly is typically:

(O A less than 20%
(O B less than 40%.
/(@) c. greater than 50%

() D. greaterthan 10%

() E. greaterthan 30%.
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+/ Question 28 3 points

Inthe short run, a perfectly competitive firm will shut down if price is less than:

A. total cost.
B. averagefixed cost.
average total cost.

D. marginal cost.

® O 0O0O0
o

E. average variable cost.
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+/ Question 29 3 points

If a fruitjuice company merged with a large apple farming company, it would be:

A aconglomerate merger.

B. a vertical merger.

D. None of these.

E. All of these.

@)
v®
() €. ahorizontal merger.
@)
@)
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+/ Question 30 3 points

Which of the following is ot true about oligopoly industries?

(O A There are few firms.

/(@ B. Each firm acts independent of the other firms
() C. There may be barriers to entry.
(O D. The firms may produce homogenous products.

(O E. Thefirms may produce differentiated products.
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